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cos (00) = 1, cos B, cos (20) = 2cos? § — 1, cos (30) = 4cos® f — 3cos b, - - - (1)
SR (—2K) IS RZW)F5) {T, (2)} K
Ty (z) = 1,Ty (2) = 2, Ty (2) = 20 — 1, T3 (z) = 42® — 3z,
Ty (z) = 8z* — 822 + 1, Ty (z) = 162° — 202> 4 bz,
Ts () = 322° — 482% 4+ 1822 — 1, Ty (z) = 64x” — 1122° + 5623 — Tz,
Ts (x) = 1282% — 25625 + 1602* — 3222 + 1, Ty () = 2562° — 57627 + 4322° — 12023 + 9z,
Tho (z) = 51220 — 12802% + 11202 — 4002* + 5022 — 1,
Ty (z) = 1024z — 28162° + 281627 — 12322° + 22023 — 11,
Tio (z) = 2048212 — 61442 + 69122° — 358425 + 8402* — 7222 + 1,
Tis (z) = 40962 — 13312211 4 166402° — 998427 + 29122° — 3642° + 13z, - - - (2)
Thio () = 22T 41 () = T, (), € C,n € N. (3)
{T, (z)} FdERPE:
T, (cos ) = cos (nh) ,0 € R,n € N. (4)

(T (x)} AHZIRIAER, BHAER ), {T, (v)} B EEN ST Z—.
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By (z) =2,B; (z) =z, By (z) = 2® — 2, B3 (z) = 2> — 3z, By (z) = z* — 42° 4 2,
Bs (x) = 2° — 52® + 52, Bg (x) = 2% — 62* + 922 — 2, By (z) = 27 — 72° + 142® — Ta,
Bg (z) = 2® — 82°% + 202* — 162 + 2, By (z) = 2” — 927 + 272° — 302> + 9,
Big (z) = 20 — 102® + 352°% — 502* 4 2522 — 2, By (z) = 2™ — 112° 4 4427 — 772° + 552° — 11z,
B (z) = 22 — 1221 + 5428 — 1122° + 1052 — 3622 + 2,
Bz (z) = 2 — 132 + 6527 — 15627 + 1822° — 912 + 13z, - -- (2)
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1° B, (2cosf) =2cos(nf),0 e R,n €N (3)
2° Bp(—z)=(-1)"B,(z),z€C,neN. (4)
XEW B, () 2 n 7F (1) BurHEar (6) %k
3° B,(2)=2,B,(-2)=2(-1)",neN. (5)
4°  Bomy1 (0) =0, Bap (0) = 2(—1)"™ ,m € N. (6)
5° |Bp(x)] <2,z €R,|z| < 2. (7)
6° Bn+2 (x) = xBn+1 (I) - Bn (m) T € (Cv n € N. (8)
7° By (@) BT MEREALEART 2 E 94
kaQCOS(Qk;—nl)n,k:O,l,'H,n717 n e NT. (9)
8° By, (z) MR NEEL, HAlFRH
Boy, (v Zb 22", Bop g1 (1) = ijx2m+1_2jam €N, (10)
=0 =0
Hrbg = 1,01 = —n, bo, by, - - 7bm B, H
b = 2 (—1)™ (n BB 2 (—1)™ - (n AL (11)
9° Fin=p" (p WIEEL ke NT) 0 (10) 2CH 14 R 40 2
p|bJa ]:1,2,"',77’1. (12)
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B,(z)=z, z€CmneN n>2 (1)
AT
fR: GE 2 e R, H |2[ <2, 2=2c0s0,0 <0 <, W 2 5 0 ZA——XR KR, fLALTE
cos(nf) =cos =nl =2kn+0,kcZ,0<0<mn (2)
21 2j
— 0 = 2mzi1 (=0,1, m—1),0m 14, = %(j:m,--- ,m) ,n = 2m;
ﬁei:%(i:m,m M) Oy = mJL (G=1,2,--,m),n=2m+1(meN*). (3)

By, (z) (n > 2) BREAS R 3) X, W (1) K n R, £ C NIGH n MR, B (3). HiE (3)
5, VRS, O
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& kanlanQa"’ , N € N+ - {1}7 T1,T2, " , Tk € Ca %
Ty = By, (71),23 = By, (22), - ,2x = Bn,_, (¥r-1),21 = By, (7) (1)
FAEYI SRR A TR, R
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xg9 = 2cos (n10) ,23 = 2cos (n1nob) -+ ,x = 2cos (ning - - ng_10),
x1 =2cos(nb),n=ning---np € NT — {1} (2)
= B, (11) = 13 (3)
= (21,22, - ,x) = (2cos6,2cos (n16),2cos (nin2b),--- ,2cos (ning - - - ng_19)), (4)
Hdp g an 745 (3) NP, Bk (4) MPTR &, B, Pk O
FA 2A.
KA 2 TTAEUI T R B HA T R h -
y=DBz(z),r=Bs(y). (5)
e
. 2m 4m 2m 4m 6
(z,y) = (20089,2008(29)),020,%,%,;,;,;. (6)
FA 2B.
SKAR 3 TUEY) LS B SEA R A :
y=DBs(x),z=DBs5(y), = Bs(z). (7)
R
TN, &%
(2,9, 2) = (2086, 2 cos (50) , 2 cos (250) ), 0 = % (i=0,1,---,62) a‘z% (j=1,2,--,62). 8)
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